SHR %5 — hBRESR

SHR 30,60

i - ——

o HAMRBENBEN s L FHERE

o i A,

= AE Bl E

3

CHELIC.

I HESRAS AR IR G » EIFRIRAREREE R -

ZIIHE

Rt BB A B BATE = FHRE | (FXE% REREEEE BEfEENRE
SHR - 15 151 136 15 mm 470 g
SHR - 30 202 172 30 mm 495 g
0.5 ~ 30 mm/sec
SHR - 60 282.5 222.5 60 mm 6159 0~60°C 15 ~ 350 kgf . 10.23 kgf« M
B 100 kg ¥
SHR - 80 336.5 256.5 80 mm 690 g
SHR - 100 390 290 100 mm 7659
A
2-026.6 L
1772 B
21 24 B
1|1
1 o miim|
(3] & ik
[se}
pE == o e——
R 28
C HEEERFERRGF
© [E7E JEE © FEIR2 © SE (I HRNE
3% SSC-08,10,12
2-F
| |
ORGP "
c B - -
A
SW ‘ ‘ H
N ~—
1 1 1 — Q| O
T 1 A T 1 Q| Q
G L
[ Il
— b 1 ) S
LD
[ 11
ik il L
L' ! L'
‘ ‘ ‘T © E{IiZE © JE (I HRNE
B2ARHRSE | L (M | N | D1 |D2| KK | SW ||18424RSE | L KK | SW
0 B s5C-08 [14|— | —| — | —|M8x1.0 | 11 || sSN-08 | 3 |[M8x1.0 | 11
SSC-10 [16|— | —| — | — |M10x1.012.7 || SSN-10 | 3 |[M10x1.0[12.7
R g?g AlB|c|D|E F Hi1| T ||ssc12|20/—|—|— |—|m12x1.0| 14 |[SSN-12 | 4 |M12x1.0| 14
CERET SSC-14 |27(12 15| 18 |15|M14x1.5| 19 || SSN-14 | 6 |M14x1.5] 19
SAC-10* || sMB-10 |26/19(3.5| 8 |4 | 332 HE o 18| 9 |M10x10
L & §SC-20 35|15 |20| 25 |21|M20x1.5| 26 || SSN-20 | 8 |M20x1.5| 25
*k . pli:§
[ SMB-12 137|2214.5/10 |5 | gg'gg a5 |22| 1 |M2K1.0'sc o5 (4515 30[31.5] 26 |M25x1.5] 32 || ssN-25 [10|m25x1.5] 32
" @5.5 58
SAC(D)}-14""| SMB-14 151)405.5/12| 6 zg.sﬁgs.s s | 24[12 \M4x1.5 || 55c-251| 65 |25 |40 [31.5|26 |M25x1.5| 32 || SSN-25L| 10 |M25x1.5| 32
SAC(D)-20"|| SMB-20 (60|40 10 |16 | 8 | G52 B1E, . 32|16 | M20x1 5 || SSC-36 |80 |25 55| 45 |37 |M36x1.5| 46 || SSN-36 |15|M36x1.5| 46

7-1.15

CJ-M
P EERER

MOV
FHR

CRJF
hEWI%EE

SA[]
T
EES
SHR
IR
BEs

SL[]J

HER

PLIS
FIRIZTE



